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jksy ua----                                                     

Roll No.  
    

    
us’kuy ehUl de esfjV LdkWyjf’ki ijh{kkus’kuy ehUl de esfjV LdkWyjf’ki ijh{kkus’kuy ehUl de esfjV LdkWyjf’ki ijh{kkus’kuy ehUl de esfjV LdkWyjf’ki ijh{kk    &&&&    2022022022022222        

NATIONAL MEANS-CUM-MERIT SCHOLARSHIP EXAMINATION – 2022 
 

MAT AND SAT 
le; % 180 feuV                         iw.kkZad % 180  
Time :  180 Minutes                        Max. Marks : 180 

ijh{kkfFkZ;ksa ds fy, funsZ’k @ Instructions to Candidates 
iz’uksa ds mÙkj nsus ls igys fuEufyf[kr funsZ’kksa dks /;ku ls if<+,iz’uksa ds mÙkj nsus ls igys fuEufyf[kr funsZ’kksa dks /;ku ls if<+,iz’uksa ds mÙkj nsus ls igys fuEufyf[kr funsZ’kksa dks /;ku ls if<+,iz’uksa ds mÙkj nsus ls igys fuEufyf[kr funsZ’kksa dks /;ku ls if<+,AAAA 

Read the following instructions carefully before you answer the questions. 

 
 

1111---- viuk jksy uEcj] tSlk fd vkids izos’k i= esa fn;k 
x;k gS] Li"V fyf[k, ¼,d ckWDl esa dsoy ,d vad½ 

 mnkgj.k % 
 

3 3 0 2 2 0 1 0 1 1 0 1 
 

 1. Please write your Roll No. as given on your 
Admission Card, very clearly (only one digit in one 
box). 
Example: 
  

3 3 0 2 2 0 1 0 1 1 0 1 
 

 

2222---- bl iz’u i= iqfLrdk esa dqy 32 i`"B gaS] vafre nks 
i`"B jQ dk;Z ds fy, [kkyh NksM+s x, gSaA 

 2. This question paper booklet contains 32 pages. 

Last two pages are left blank for rough work.  

3333---- izR;sd iz’u dk mÙkj] mÙkj&i=dmÙkj] mÙkj&i=dmÙkj] mÙkj&i=dmÙkj] mÙkj&i=d esa mlh iz’u la[;k 

ds lkeus fn, x, fodYiksa esa ls lgh fodYi okyh 

la[;k ds vksoy@o`Ùk esa uhysuhysuhysuhys@dkys@dkys@dkys@dkys    ckWy isu ckWy isu ckWy isu ckWy isu ls xgjk    

dj nhft,A xgjk u gksus ij Ldsuj }kjk u i<+s tkus 

dh ftEesnkjh Lo;a ijh{kkFkhZ dh gksxhA  

 3. One oval/circle of correct answer should be 

darkened by the candidates with Blue/Black Ball 

Pen of corresponding question of the OMR sheet. If 

scanner is unable to read the darkened oval/circle 

then all the responsibility lies on the candidate.  

4444---- bl iz’u i= iqfLrdk esa dqy 180 iz’u fn, x, gSaA 
lHkh iz’u leku vad ds gaSA  

 4. This question paper booklet contains 180 
questions. All questions carry equal marks.  

5555---- lHkh iz’u fgUnh ,oa vaxzst+h ¼f}Hkk"kk½ esa eqfnzr gaSA     5.   All questions are printed in Hindi and English 
(Bilingual). 

6666---- iz’uksa dk udkjkRed vadu ugha gSA     6.     There is No Negative marking in questions. 

 

uksV %uksV %uksV %uksV %    1111----        bl iqfLrdk esa viuk jksy uEcj ,oa jQ dk;Z ds fy, fn, x, LFkku ij dsoy jQ dk;Z djus ds bl iqfLrdk esa viuk jksy uEcj ,oa jQ dk;Z ds fy, fn, x, LFkku ij dsoy jQ dk;Z djus ds bl iqfLrdk esa viuk jksy uEcj ,oa jQ dk;Z ds fy, fn, x, LFkku ij dsoy jQ dk;Z djus ds bl iqfLrdk esa viuk jksy uEcj ,oa jQ dk;Z ds fy, fn, x, LFkku ij dsoy jQ dk;Z djus ds 
        vfrfjDr dghvfrfjDr dghvfrfjDr dghvfrfjDr dghaa aa    dqN u fyf[k,AdqN u fyf[k,AdqN u fyf[k,AdqN u fyf[k,A    
                            2222----        fgUnh vkSj vaxzsth ek/;e ds iz’uksa esa dksbZ fHkUurk ik, tkus ij fgUnh ek/;e ds iz’uksa dks lgh ekuk fgUnh vkSj vaxzsth ek/;e ds iz’uksa esa dksbZ fHkUurk ik, tkus ij fgUnh ek/;e ds iz’uksa dks lgh ekuk fgUnh vkSj vaxzsth ek/;e ds iz’uksa esa dksbZ fHkUurk ik, tkus ij fgUnh ek/;e ds iz’uksa dks lgh ekuk fgUnh vkSj vaxzsth ek/;e ds iz’uksa esa dksbZ fHkUurk ik, tkus ij fgUnh ek/;e ds iz’uksa dks lgh ekuk 

tk,xkAtk,xkAtk,xkAtk,xkA    
 

Note :  1. Do not write anything anywhere in the booklet except your Roll Number and Rough Work at the 
  place meant for it. 
 2. In case any difference is found between Hindi and English medium questions, Hindi medium 

questions will be treated as correct. 
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MAT – Q. No. (1 to 90) 

PART - A 
 

 ekufld ;ksX;rkekufld ;ksX;rkekufld ;ksX;rkekufld ;ksX;rk    ijh{kkijh{kkijh{kkijh{kk  MENTAL ABILITY TEST    

 funsZfunsZfunsZfunsZ’k’k’k’k: iz’u (1-10) :- fn, x, fodYiksa esa ls yqIr 

in Kkr dhft,A   

 Direction: Questions (1-10) :- Find out missing 

term from the given alternatives.      

1. 1,3,1,9,1,...................? 

(1) 18 (2) 81 

(3) 29 (4) 10 
 

1. 1,3,1,9,1,...................? 

(1) 18 (2) 81 

(3) 29 (4) 10 
 

2. 2,4,12,...................? 

(1) 36 (2) 40 

(3) 48 (4) 50 
 

2. 2,4,12,...................? 

(1) 36 (2) 40 

(3) 48 (4) 50 
 

3. 3,9,15,21,...................? 

(1) 24 (2) 36 

(3) 27 (4) 35 
 

3. 3,9,15,21,...................? 

(1) 24 (2) 36 

(3) 27 (4) 35 
 

4. RP_PP_PRR_J_PJPR 

(1) JRRP (2) JJPP 

(3) RPPR (4) JPJP 
 

4. RP_PP_PRR_J_PJPR 

(1) JRRP (2) JJPP 

(3) RPPR (4) JPJP 
 

5. MNNP_NNP_ _NP_ NNP 

(1) MMNM  (2) NNMN 

(3) PPMM (4) MNPN 
 

5. MNNP_NNP_ _NP_ NNP 

(1) MMNM  (2) NNMN 

(3) PPMM (4) MNPN 
 

6. HEJ,LGN,___,TKV,XMZ 

(1) PRQ (2) PIR 

(3) PIM  (4) PIS  
 

6. HEJ,LGN,___,TKV,XMZ 

(1) PRQ (2) PIR 

(3) PIM  (4) PIS  
 

7. CD,FGH,JKLM,............ 

(1) OPQRTS (2) OPQSRT  

(3) OPQTSR (4) OPQRST 
 

7. CD,FGH,JKLM,............. 

(1) OPQRTS (2) OPQSRT  

(3) OPQTSR (4) OPQRST 
 

8. A, AB, ABC,............ 

(1) BCD (2) ABCD 

(3) CBD  (4) ACBD 
 

8. A, AB, ABC,............ 

(1) BCD (2) ABCD 

(3) CBD  (4) ACBD 
 

9. ABC:ZYX::BCD:............. 

(1) YXW (2) XYW  

(3) YWX (4) XYZ 
 

9. ABC:ZYX::BCD:............. 

(1) YXW (2) XYW  

(3) YWX (4) XYZ 
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10. AZPK,BYQJ,CXRI,.................. 

(1) DHSW (2) DSHW 

(3) DWHS (4) DWSH 

 

10. AZPK,BYQJ,CXRI,.................. 

(1) DHSW (2) DSHW 

(3) DWHS (4) DWSH 

 

 
funsZfunsZfunsZfunsZ’k’k’k’k: iz’u(11-20):- fuEufyf[kr iz’uksa esa fotkrh; 

in dk Kkr dhft,A   

 
Direction: Questions(11-20):- Select the odd 

term in the following questions.    

11. (1) pkoy  (2) eDdk  

(3) xsgw¡  (4) fry  
 

11. (1) Rice (2) Maize  

(3) Wheat  (4) Sesame  

 

12. (1) g"kZ  (2) vkuUn  

(3) mYykl  (4) mnkl  
 

12. (1) Happiness  (2) Delight  

(3) Pleasure  (4) Sad  
 

13. (1) yksgk  (2) pk¡nh 

(3) ihry  (4) rk¡ck  
 

13. (1) Iron  (2) Silver  

(3) Brass  (4) Copper  

 

14. (1) Qjojh  (2) vizSy  

(3) twu   (4) uoEcj  
 

14. (1) February  (2) April  

(3) June  (4) November  

 

15. (1) dfo  (2) xk;d  

(3) urZd  (4) xhr  
 

15. (1) Poet  (2) Singer  

(3) Dancer  (4) Song  

 

16. (1) t;iqj  (2) xk¡/khuxj 

(3) fpÙkkSM+x<+  (4) Hkksiky  
 

16. (1) Jaipur  (2) Gandhinagar  

(3) Chittorgarh  (4) Bhopal  

 

17. (1) YWU (2) SQO  

(3) MKI (4) PON  
 

17. (1) YWU (2) SQO  

(3) MKI (4) PON  

 

18. (1) 169 (2) 343 

(3) 144 (4) 324 
 

18. (1) 169 (2) 343 

(3) 144 (4) 324 

 

19. (1) fnYyh  (2) jktLFkku  

(3) xqtjkr  (4) egkjk"Vª 
 

19. (1) Delhi  (2) Rajasthan  

(3) Gujarat  (4) Maharashtra  

 

20. (1)  (2)  

(3)  (4)  
 

20. (1)  (2)  

(3)  (4)  
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 funsZfunsZfunsZfunsZ’k’k’k’k: iz’u (21-25) :- fuEufyf[kr iz’uksa esa      

v{kj@'kCn@fp= ds izfrfcac niZ.k esa n`"Vkadu 

djuk gS] niZ.k dh fLFkfr nh xbZ gSA fn;s x;s 

fodYiksa eas lgh izfrfcac pqfu;s &  

 Direction: Questions (21-25) :- In the following 

questions visualise the image of the 

letter/word/picture in the mirror. The Position of 

the mirror is given. Choose the correct image 

from the given options -  

21. 

 

(1)  (2)  

(3)  (4)  
 

21. 

 

(1)  (2)  

(3)  (4)  
 

22. 

 
(1) 

 

(2) 

 
(3) 

 

(4) 

  

22. 

 
(1) 

 

(2) 

 
(3) 

 

(4) 

  

23. 

 

(1)  (2) 
 

(3) 
 

(4) 
 

 

23. 

 

(1)  (2) 
 

(3) 
 

(4) 
 

 

24. 

 

(1)  (2)  

(3)  (4)  
 

24. 

 

(1)  (2)  

(3)  (4)  
 

25. 

 

(1)  (2) 
 

(3)  (4)  
 

25. 

 

(1)  (2) 
 

(3)  (4)  
 

26. ,d ikls dh nks fLFkfr;k¡ fn[kkbZ xbZ gSa] ftlesa 
Åij 5 gks mlesa uhps dh lrg ij dkSu lk vad 
gksxk\  

 

(1) 4 (2) 6 
(3) 3 (4) 2 

 

26. Two positions of a dice are shown. In which 

there is 5 on the top which number will be 

there on the bottom surface? 

 

(1) 4 (2) 6 

(3) 3 (4) 2 
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27. fuEukafdr ikls dh fLFkfr;ksa ds vk/kkj ij 6 ds 

foijhr D;k vk;sxk\  

 

(1) 5 (2) 2 

(3) 1 (4) 3 
 

27. What will be opposite of 6 based on the 

following positions of a dice?  

 

(1) 5 (2) 2 

(3) 1 (4) 3 

 

28. fuEukafdr ikls dh fLFkfr;ksa ds vk/kkj ij 4 ds 

foijhr D;k vk;sxk\  

 

(1) 2 (2) 5 

(3) 6 (4) 1 
 

28. What will be opposite of 4 based on the 

following positions of a dice?  

 

(1) 2 (2) 5 

(3) 6 (4) 1 

 

29. fuEukafdr ikls dh fLFkfr;ksa ds vk/kkj ij 6 ds 

foijhr D;k vk;sxk\  

 

(1) 4 (2) 2 

(3) 3 (4) 1 
 

29. What will be opposite of 6 based on the 

following positions of a dice?  

 

(1) 4 (2) 2 

(3) 3 (4) 1 

 

30. fn, x, fp= esa vad 5 dh lrg ds foijhr lrg 

ij dkSu lk vad gksxk\  

 

(1) 6 (2) 4 

(3) 1 (4) 2 
 

30. In the given picture what will be the number 

on the face opposite to face with number 5?  

 

(1) 6 (2) 4 

(3) 1 (4) 2 
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31. fn, x, fp= esa dqy fdrus oxZ gSa\  
 

 

(1) 10 (2) 6 

(3) 8 (4) 7 
 

31. How many squares are there in the given 

figure?  

 

(1) 10 (2) 6 

(3) 8 (4) 7 
 

32. fn, x, fp= esa vk;rksa dh la[;k fdruh gS\  

 

(1) 6 (2) 9 

(3) 4 (4) 8 
 

32. How many rectangles are there in the given 

figure?  

 

(1) 6 (2) 9 

(3) 4 (4) 8 
 

33. fn, x, fp= esa f=Hkqtksa dh la[;k crkb, &  

 

(1) 6 (2) 8 

(3) 9 (4) 7 
 

33. How many triangles are there in the given 

figure? 

 

(1) 6 (2) 8 

(3) 9 (4) 7 
 

34. fn, x, T;kferh; fp= esa dqy fdrus prqHkqZt      

gSa\  

 
 

(1) 11 (2) 8 

(3) 6 (4) 9 
 

34. How many quadrilaterals are there in the 

following geometric figure?  

 
 

(1) 11 (2) 8 

(3) 6 (4) 9 
 

35. oxZ fp= esa vk;rksa dh dqy la[;k D;k         
gksxh\  

 
(1) 18 (2) 29 
(3) 36 (4) 22 

 

35. What will be the total number of rectangles in 

the square figure?  

 
(1) 18 (2) 29 

(3) 36 (4) 22 
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 funsZfunsZfunsZfunsZ’k’k’k’k: (36-40) :- ;fn vk;r, xf.kr fo"k; dks] o`Ùk 

vaxzsth fo"k; dks o f=Hkqt fgUnh fo"k; dks n’kkZrk 

gS rFkk vkd`fr esa fn, x, vad ikl gq, Nk=ksa dh 

la[;k gS] rks fuEu iz’uksa ds mÙkj nhft, & 

  

 Direction: (36-40) :- If rectangle shows Maths 

subject, circle shows English subject and triangle 

shows Hindi subject and given numbers in figure 

shows pass out students, then answer the 

following questions -   

 

36. ,sls fdrus Nk= gaS tks lHkh fo"k; esa mÙkh.kZ gSa\  
(1) 7 (2) 10 
(3) 8 (4) 6 

 

36. How many students pass in all subjects?  

(1) 7 (2) 10 

(3) 8 (4) 6 
 

37. ,sls fdrus Nk= gSa tks dsoy fgUnh fo"k; esa mÙkh.kZ 
gSa\  
(1) 6 (2) 16 
(3) 2 (4) 10 

 

37. How many students passed only in Hindi 

subject?  

(1) 6 (2) 16 

(3) 2 (4) 10 
 

38. ,sls fdrus Nk= gaS tks dsoy vaxzsth vkSj xf.kr 
nksuksa fo"k; esa mÙkh.kZ gSa\  
(1) 3 (2) 16 
(3) 2 (4) 10 

 

38. How many students passed in English and 

Maths both subjects only?  

(1) 3 (2) 16 

(3) 2 (4) 10 
 

39. ,sls fdrus Nk= gaS tks vaxzsth o fgUnh nksuksa esa 
mÙkh.kZ gaS\  
(1) 2 (2) 5 
(3) 10 (4) 16 

 

39. How many students passed in English and 

Hindi both subjects?  

(1) 2 (2) 5 

(3) 10 (4) 16 
 

40. ,sls fdrus Nk= gSa tks dsoy xf.kr esa mÙkh.kZ       
gSa\  
(1) 18 (2) 13 
(3) 5 (4) 6 

 

40. How many students passed only in Maths 

subject?  

(1) 18 (2) 13 

(3) 5 (4) 6 
 

 funsZfunsZfunsZfunsZ’k’k’k’k: fuEufyf[kr tkudkfj;ksa dks /;ku ls i<+s 

rFkk iz’u la[;k (41-43) ds mÙkj nhft,A        

(1) P,Q,R,S,T,U rFkk V lkr fe= gaS rFkk 
,d o`Ùk ds pkjksa vksj dsUnz dh vksj eq[k 
djds cSBs gSaA   

(2) ‘V’, ‘S’ ds ck;ha vksj ls nwljs LFkku ij 
gS rFkk T ,oa U dk iM+kslh gSA   

(3) ‘S’, ‘R’ vkSj ‘T’ dk iM+kslh ugha gSA   

(4) ‘P’, ‘Q’ vkSj ‘R’ dk iM+kslh gSA   
 

 Direction: Read the following information 

carefully and answer the question numbers 

(41-43). 

(1) P,Q,R,S,T,U and V are seven friends 

and are sitting around a circle facing 

the centre.    

(2) ‘V’ is second to the left of ‘S’ and is 

the neighbour of ‘T’ and ‘U’. 

(3) ‘S’ is not a neighbour of ‘R’ and ‘T’. 

(4) ‘P’ is neighbour of ‘Q’ and ‘R’.  
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41. fuEu esa ‘R’ dh fLFkfr D;k gksxh\  

(1) Q ds ck;ha vksj nwljs LFkku ij  

(2) U ds nk;ha vksj rhljs LFkku ij 

(3) P ds Bhd ck;ha vksj  

(4) buesa ls dksbZ ugha  
 

41. What will be the position of ‘R’ in the 

following?  

(1) Second to the left of Q 

(2) Third to the right of U  

(3) To the immediate left of P  

(4) None of these  
 

42. ‘Q’ ds iM+kslh dkSu gaS\  
(1) P rFkk V (2) S rFkk U 
(3) P rFkk S (4) U rFkk T 

 

42. Who are the neighbours of ‘Q’?  

(1) P and V (2) S and U 

(3) P and S (4) U and T 
 

43. V rFkk Q ds e/; dkSu cSBs gSa\  
(1) U, S (2) V, T  
(3) S, Q (4) buesa ls dksbZ 

ugha  
 

43. Who are sitting between V and Q?  

(1) U, S (2) V, T  

(3) S, Q (4) None of these  
    

44. ih;w"k js[kk dk HkkbZ gS vkSj js[kk vkuUnh dh csVh 
gSA vkuUnh oklq dh iRuh gS] rks oklq ih;w"k dk 
D;k yxrk gS\   
(1) firk  (2) HkkbZ  

(3) nknk  (4) pkpk  
 

44. Piyush is Rekha’s brother and Rekha is 

daughter of Anandi. Anandi is Vasu’s wife. 

What is the relation of Vasu with Piyush?  

(1) Father  (2) Brother  

(3) Grandfather  (4) Uncle  
 

45. B, C dk firk gS ijUrq C, B dk iq= ugha gSA       
C, B ls dSls lEcfU/kr gS\ 
(1) ekrk  (2) iq=h  

(3) iq=  (4) firk  
 

45. B is father of C, but C is not ‘B’s son. How is 

C related to B?  

(1) Mother  (2) Daughter  

(3) Son  (4) Father  
 

46. lkSjHk vk;q"k ds firk gaS] lkSjHk dh iq=h lqjfHk gSA 

vk;q"k lqjfHk ds chp D;k fj’rk gS\  
 

(1) HkkbZ&cfgu  

(2) nknk&iksrh  

(3) pkpk&pkph  

(4) ifr&iRuh  
 

46. Sourabh is Ayush’s father and Surbhi is 

Sourabh’s daughter. What is the relation 

between Ayush and Surbhi?  

(1) Brother-Sister  

(2) Grandfather-Grand daughter 

(3) Uncle-Aunty  

(4) Husband-Wife 
 

47. lhrk dh lkl ds bdykSrs csVs ds llqj] lhrk ds 

cPpksa ds D;k gSa\  
 

(1) ekek  

(2) nknk  

(3) ukuk  

(4) iq=  
 

47. What is the relation between father in law of 

Sita’s mother in law’s only son with Sita’s 

children? 

(1) Maternal uncle 

(2) Grandfather  

(3) Maternal grandfather  

(4) Son  
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48. eukst ds iq= ds iq= dk HkkbZ jkgqy gS] rks jkgqy 

dk eukst ls D;k lEcU/k gS\  

(1) HkkbZ  (2) Hkkatk  

(3) iksrk  (4) Hkrhtk  
 

48. Manoj’s son’s son’s brother is Rahul, then 

how is Rahul related to Manoj?  

(1) Brother  (2) Nephew  

(3) Grandson  (4) Niece  
 

49. izfrKk nf{k.k fn’kk esa pyuk 'kq#dj 15 dne  

pyus ds ckn nks ckj vius ck;sa ?kweh vkSj nksuksa 

ckj 15-15 dne pyh rks crkvks og vius izkjEHk 

okys LFkku ls fdruh nwjh ij gS\  

(1) 47 dne (2) 31 dne  

(3) 32 dne (4) 15 dne   
 

49. Pratigya started walking in the south direction 

and after walking 15 steps turned to her left 

twice and walked 15-15 steps both times. 

Then tell how far she is from her starting 

point?  

(1) 47 Steps  (2) 31 Steps  

(3) 32 Steps  (4) 15 Steps  
 

50. jk/kk vius ?kj ls iwoZ fn’kk dh vksj eq[k djds 

pyh] 5 fdyksehVj pyus ds ckn nk;sa eqM+us ds 

ckn 3 fdyksehVj pyh] rks crkvks mldk ?kj Lo;a 

ls fdl fn’kk esa gS\  

(1) mÙkj&iwoZ  (2) nf{k.k&if’pe  

(3) mÙkj&if’pe  (4) nf{k.k&iwoZ  
 

50. Radha walked 5km from her house facing 

East and walked 3km after turning to her 

right, then tell in which direction her house is 

from herself?  

(1) North-East (2) South-West  

(3) North-West (4) South-East  
 

51. lksgu vius ?kj ds iwoZ fn’kk dh vksj [kqyus okys 
njokts ls lh/kk 3 fdyksehVj pydj ck;ha vksj 
?kwedj 2 fdyksehVj pyk fQj ck;as ?kwedj           
5 fdyksehVj pyk] fQj ck;as ?kwedj 2 fdyksehVj 
pykA crkvks og vius ?kj ls lh/ks fdruh nwjh 
ij gS\  
(1) 2 fd-eh- (2) 12 fd-eh- 

(3) 10 fd-eh- (4) 5 fd-eh- 
 

51. Sohan walks 3km straight from the door that 

opens towards the east of his house, walks 

2km to his left then turns left and walks 5km, 

then turns left and walks 2km. How far is he 

directly from his house?  

(1) 2 km (2) 12 km 

(3) 10 km (4) 5 km 
 

 funsZ’k%funsZ’k%funsZ’k%funsZ’k% iz’u (52-61): fp=ksa ds nks lewg fn, x, 

gSa] ,d lewg iz’u vkÑfr;ksa rFkk nwljk mÙkj 

vkÑfr;ksa dk gSA iz’u vkÑfr;ksa dks fdlh ,d 

Øe esa O;ofLFkr fd;k x;k gSA mÙkj vkÑfr;ksa esa 

ls ,d vkÑfr dk bl izdkj p;u djsa dh bls 

iz’u vkÑfr;ksa dh Jà[kyk ds ckn j[kk tk ldsA 

p;fur mÙkj vkÑfr dh lgh Øe la[;k Kkr 

dhft,A  

 Direction: Question (52-61): Two sets of 

figures are given one set is of Question 

figures and another set is of Answer figures. 

Question figures are arranged in a sequence. 

One figure from the Answer figures is to be 

selected such that it can be placed after the 

series of question figures. Find the correct 

serial number of the selected Answer figure.  
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52. iz’u vkÑfr;ka&   

 
mÙkj vkÑfr;ka& 
(1) 

 

(2) 

 
(3) 

 

(4) 

 
 

52. Question figures-  

 
Answer figures-  
(1) 

 

(2) 

 
(3) 

 

(4) 

 
 

53. iz’u vkÑfr;ka&  

 
mÙkj vkÑfr;ka&  

(1) 

 

(2) 

 

(3) 

 

(4) 

 
 

53. Question figures-  

 
Answer figures-  

(1) 

 

(2) 

 

(3) 

 

(4) 

 
 

54. iz’u vkÑfr;ka &  

 

mÙkj vkÑfr;ka &  

(1) 

 

(2) 

 

(3) 

 

(4) 

 
 

54. Question figures-  

 

Answer figures-  

(1) 

 

(2) 

 

(3) 

 

(4) 
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55. iz’u vkÑfr;ka &  

 

mÙkj vkÑfr;ka &  

(1) 

 

(2) 

 

(3) 

 

(4) 

 
 

55. Question figures-  

 

Answer figures- 

(1) 

 

(2) 

 

(3) 

 

(4) 

 
 

56. iz’u vkÑfr;ka &  

 

mÙkj vkÑfr;ka &  

(1) 

  

(2) 

 

(3) 

 

(4) 

 
 

56. Question figures- 

 

Answer figures- 

(1) 

 

(2) 

 

(3) 

 

(4) 

 
 

57. iz’u vkÑfr;ka &  

 

mÙkj vkÑfr;ka &  

(1) 

 

(2) 

 

(3) 

 

(4) 

 
 

57. Question figures- 

 

Answer figure -s   

(1) 

 

(2) 

 

(3) 

 

(4) 
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58. iz’u vkÑfr;ka &  

 

mÙkj vkÑfr;ka &  

(1) 

  

(2) 

 

(3) 

 

(4) 

 
 

58. Question figures- 

 

Answer figures- 

(1) 

  

(2) 

 

(3) 

 

(4) 

 
 

59. iz’u vkÑfr;ka &  

 

mÙkj vkÑfr;ka &  

(1) 

 

(2) 

 

(3) 

 

(4) 

 
 

59. Question figures-  

 

Answer figures-  

(1) 

 

(2) 

 

(3) 

 

(4) 

 
 

60. iz’u vkÑfr;ka &  

 

mÙkj vkÑfr;ka &  

(1) 

 

(2) 

 

(3) 

 

(4) 

 

 

60. Question figures-  

 

Answer figures-  

(1) 

 

(2) 

 

(3) 

 

(4) 
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61. iz’u vkÑfr;ka &  

 
mÙkj vkÑfr;ka &  

(1) 

 

(2) 

 

(3) 

  

(4) 

 
 

61. Question figures-  

 

Answer figures-  
(1) 

 

(2) 

 

(3) 

 

(4) 

 
 

62. ijlks lkseokj Fkk] rks ijlks dkSu lk okj gksxk\ 
  
(1) eaxyokj  (2) cq/kokj  

(3) xq#okj  (4) 'kqØokj 
 

62. If day before yesterday was Monday, then day 

after tomorrow will be -  

(1) Tuesday  (2) Wednesday 

(3) Thursday (4) Friday 
 

63. fdlh o"kZ xk¡/kh t;Urh jfookj dks eukbZ xbZ] rks 

mlh o"kZ cky fnol dc gksxk\   

(1) lkseokj  (2) eaxyokj  

(3) xq#okj  (4) 'kqØokj 
 

63. In a year Gandhi Jayanti falls on Sunday, 

what will be the day on Children’s day in the 

same year?  

(1) Monday (2) Tuesday 

(3) Thursday (4) Friday  
 

64. fuEu eas ls dkSu lk yhi o"kZ gS\  

(1) 1882 (2) 1800 

(3) 1296 (4) 1962 
 

64. Which is a leap year?  

(1) 1882 (2) 1800 

(3) 1296 (4) 1962 
 

65. o"kZ 2022 esa fdrus lIrkg gksaxs\  

(1) 48 (2) 50 

(3) 52 (4) 57 
 

65. How many weeks are there in the year 2022?  

(1) 48 (2) 50 

(3) 52 (4) 57 
 

 funsZ’k%funsZ’k%funsZ’k%funsZ’k% iz’u (66-70): ,d ?ku ftldh N% lrg 
ij yky jax ls jax fn;k x;k gS] mls fp=kuqlkj 
?kukdkj [k.Mksa esa foHkkftr dj fn;k x;k gS] rks 
crkvks fdrus ?ku gksaxs ftudh\  

 

 Direction: Question (66-70): All six surfaces 

of a cube are coloured by red colour and it is 

divided in cubes as shown in figure, then tell 

how many cubes will be there in which? 

 

66. N% lrg ij yky jax gks & 

(1) 6 (2) 1 

(3) 2 (4) 0 
 

66. Red colour on six surfaces -  

(1) 6 (2) 1 

(3) 2 (4) 0 
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67. rhu lrg ij gh yky jax gks &  

(1) 8 (2) 10 

(3) 12 (4) 6 
 

67. Red colour on three surfaces only-  

(1) 8 (2) 10 

(3) 12 (4) 6 
 

68. nks lrg ij gh yky jax gks &  

(1) 10 (2) 12 

(3) 16 (4) 18 
 

68. Red colour on two surfaces only-  

(1) 10 (2) 12 

(3) 16 (4) 18 
 

69. ,d Hkh lrg ij yky jax ugha gks &  

(1) 4 (2) 2 

(3) 1 (4) 3 
 

69. None of the surface with red colour -  

(1) 4 (2) 2 

(3) 1 (4) 3 
 

70. dsoy ,d gh lrg ij yky jax gks &  

(1) 4 (2) 6 

(3) 2 (4) 1 
 

70. Red colour only on one surface -  

(1) 4 (2) 6 

(3) 2 (4) 1 
 

71. ;fn ?kM+h dk okLrfod le; 3:15 gks] rks niZ.k 

izfrfcEc dk le; gksxk &  

(1) 6:45 (2) 8:45 

(3) 6:15 (4) 3:15 
 

71. If the actual time of the clock is 3:15, then the 

time of mirror image will be - 

(1) 6:45 (2) 8:45 

(3) 6:15 (4) 3:15 
 

72. ?kM+h dk okLrfod le; 6:00 gks] rks niZ.k 

izfrfcEc dk le; gksxk &  

(1) 11:30 (2) 6:00 

(3) 3:15 (4) 8:45 
 

72. If the actual time of the clock is 6:00, then the 

time of mirror image will be -  

(1) 11:30 (2) 6:00 

(3) 3:15 (4) 8:45 
 

73. ?kM+h dk okLrfod le; 9:00 gks] rks niZ.k 

izfrfcEc dk le; gksxk &  

(1) 3:00 (2) 6:00 

(3) 9:00 (4) 12:00 
 

73. If the actual time of the clock is 9:00, then the 

time of mirror image will be -  

(1) 3:00 (2) 6:00 

(3) 9:00 (4) 12:00 
 

74. ?kM+h dk okLrfod le; 5:45 gks] rks niZ.k 

izfrfcEc dk le; gksxk &  

(1) 5:15 (2) 5:45 

(3) 6:15 (4) 3:45 
 

74. If the actual time of the clock is 5:45, then the 

time of mirror image will be -  

(1) 5:15 (2) 5:45 

(3) 6:15 (4) 3:45 
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 funsZ’k%funsZ’k%funsZ’k%funsZ’k% iz’u (75-77) : izR;sd iz’u esa oxZ fn, x, 

gSaA muds vanj@ckgj fo’ks"k fu;e }kjk dqN 

la[;k,¡ nh xbZ gSaA izR;sd iz’u esa ,d oxZ ds vanj 

(?) fpà fn;k x;k gSA ml fjDr LFkku (?) dks 

Hkjus ds fy, lgh fodYi pqfu, &   

 Direction: Question (75-77) : In each 

question there are squares. Certain numbers 

are given inside/outside the squares according 

to a particular rule. In each question one 

square has (?) mark inside it. Choose the 

correct answer to fill in the space marked (?) 

from the given alternatives - 

75. 

 

(1) 24 (2) 23 

(3) 22 (4) 26 
 

75. 

 

(1) 24 (2) 23 

(3) 22 (4) 26 
 

76. 

 

(1) 50 (2) 59 

(3) 49 (4) 69 
 

76. 

 

(1) 50 (2) 59 

(3) 49 (4) 69 
 

77. 

 

(1) 34 (2) 31 

(3) 46 (4) 48 
 

77. 

 

(1) 34 (2) 31 

(3) 46 (4) 48 
 

 funsZ’k%funsZ’k%funsZ’k%funsZ’k% iz’u (78-80): fn, x, oxZ ds ukS [k.Mksa esa 

ls ,d [k.M [kkyh NksM+k x;k gS rFkk 'ks"k [k.Mksa 

esa la[;k,a fy[kh xbZ gSa] tks fdlh fof’k"V fu;e 

dk ikyu djrh gSaA ml fu;e dks Kkr dj (?) 

[k.M ds fy, mfpr fodYi pqfu,A   

 Direction: Question (78-80): Out of the nine 

cells of square given, one cell is left blank and 

the rest of the cells have numbers written 

which follow some rule. Find that rule and the 

proper option for blank cell (?).  

78. 

 

(1) 48 (2) 65 

(3) 19 (4) 36 
 

78. 

 

(1) 48 (2) 65 

(3) 19 (4) 36 
 

9 49 4

? 81

64

16

1 25

9 49 4

? 81

64

16

1 25

4 7

5

?33 35

3 5

5 4

3 5

6 3 4

4 7

5

?33 35

3 5

5 4

3 5

6 3 4

7 6

2 0

?39 89

0 3

5 4

3 1

5 2

7 6

2 0

?39 89

0 3

5 4

3 1

5 2

13 9

8 12

7 16

11 10

?21 25

17 6

18 9

13 9

8 12

7 16

11 10

?21 25

17 6

18 9
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79. 

 

(1) 21 (2) 26 

(3) 20 (4) 23 
 

79. 

 

(1) 21 (2) 26 

(3) 20 (4) 23 

 

80. 

 

(1) 17 (2) 7 

(3) 6 (4) 28 
 

80. 

 

(1) 17 (2) 7 

(3) 6 (4) 28 
 

 funsZ’k%funsZ’k%funsZ’k%funsZ’k% iz’u (81-85): 

lgh fodYi pqfu, &  

 Direction: Question (81-85) : 

Find out the correct alternative -  

81. lsUVhehVj : ehVj : : 

(1) fdyksyhVj : yhVj 

(2) lsd.M : fefuV  

(3) nwjh : fdyksehVj  

(4) twy : oksYV  
 

81. Centimeter : Meter ::  

(1) Kiloliter : Liter  

(2) Second : Minute  

(3) Distance : Kilometer  

(4) Joule : Volt  
 

82. jktLFkku : t;iqj :: 

(1) egkjk"Vª : bUnkSj 

(2) >kj[kaM : iwuk 

(3) mÙkjizns’k : ukxiqj  

(4) iatkc : p.Mhx<+ 
 

82. Rajasthan : Jaipur ::  

(1) Maharashtra : Indore  

(2) Jharkhand : Poona  

(3) Uttar Pradesh : Nagpur  

(4) Punjab : Chandigarh  

 

83. dEI;wVj : dhcksMZ ::  

(1) isM+ : iÙkh  

(2) uy : eVdh  

(3) ySiVkWi : eksckby  

(4) isu Mªkbo : ekml   
 

83. Computer : Keyboard :: 

(1) Tree : Leaf  

(2) Tap : Pot  

(3) Laptop : Mobile  

(4) Pendrive : Mouse  

 

9

21

4

? 7

18

12 38

9

21

4

? 7

18

12 38

12 15 24

?17

10

13

19 22

12 15 24

?17

10

13

19 22
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84. 2 : 9 : : 

(1) 3 : 28 (2) 4 : 17 

(3) 5 : 27 (4) 6 : 39 
 

84. 2 : 9 : : 

(1) 3 : 28 (2) 4 : 17 

(3) 5 : 27 (4) 6 : 39 
 

85. 17 : 23 : :  

(1) 5:29  (2) 5:19 

(3) 19:29 (4) 23:19 
 

85. 17 : 23 : :  

(1) 5:29  (2) 5:19 

(3) 19:29 (4) 23:19 
 

86. ;fn ,d lkadsfrd Hkk"kk esa] TAKE=1790, 

PLOT=5321  fy[kk tkrk gS] rks PLATE dks ml 

lkadsfrd Hkk"kk esa fdl izdkj fy[kk tk,xk\  

(1) 35710 (2) 53701 

(3) 53071 (4) 53710 
 

86. In a coding language, TAKE is written as 

1790 and PLOT is written as 5321, then how 

will PLATE be written in that coding 

language?  

(1) 35710 (2) 53701 

(3) 53071 (4) 53710 
 

87. ;fn ,d lkadsfrd Hkk"kk esa GROWTH = 579312  

fy[kk tkrk gS] rks THROW dks ml lkadsfrd 

Hkk"kk esa fdl izdkj fy[kk tk,xk\ 

(1) 12793 (2) 12397 

(3) 12937 (4) 12739 
 

87. In a coding language GROWTH is written as 

579312, then how will THROW be written in 

that coding language?  

(1) 12793 (2) 12397 

(3) 12937 (4) 12739 
 

88. ;fn HORSE dks IPQRF fy[kk tk;s rks 

CAMEL dks fy[kk tk;sxk &  

(1) DBLDM  (2) DZNDM  

(3) BBLDM (4) DBNFM  
 

88. If HORSE is written as IPQRF then CAMEL 

will be written as -  

(1) DBLDM  (2) DZNDM  

(3) BBLDM (4) DBNFM  

 

89. ;fn RAMESH dks SZNDTG fy[kk tk,] rks 

AJIT dks fy[kk tk;sxk &  

(1) JATI  (2) ZIHS  

(3) BIJS  (4) BIKU  
 

89. If RAMESH is written as SZNDTG, then 

AJIT will be written as -  

(1) JATI  (2) ZIHS  

(3) BIJS  (4) BIKU  
 

90. ;fn ,d lkadsfrd Hkk"kk esa CORONA dks 

3151815141 fy[kk tkrk gS] rks MASK dks ml 

lkadsfrd Hkk"kk esa fdl izdkj fy[kk tk,xk\  

(1) 1319111 (2) 1311911 

(3) 1311191 (4) 13111119 
 

90. In a coding language CORONA is written as 

3151815141, then how will “MASK” be 

written in that coding language -  

(1) 1319111 (2) 1311911 

(3) 1311191 (4) 13111119 
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SAT – Q. No. (91 to 180) 

PART - B 

 SCIENCE  foKkufoKkufoKkufoKku    
91. fuEu esa ls lw;Z ds fudVre xzg gS &  

 

(1) eaxy  (2) i`Foh  
(3) 'kqØ (4) 'kfu  

 

91. Which one of the following planet is 

nearest to Sun? 

(1) Mars  (2) Earth  

(3) Venus  (4) Saturn  
 

92. fuEu esa ls dkSu lk jklk;fud moZjd ugha        
gS\  
(1) ;wfj;k  
(2) tSfod [kkn  
(3) NPK  
(4) iksVk’k  

 

92. Which one of the following is not a 

chemical fertilizer?  

(1) Urea   

(2) Organic manure  

(3) NPK  
(4) Potash   

 

93. tM+ }kjk ty ds vo’kks"k.k dh nj dks c<+k;k 
tk ldrk gS &  
(1) Nk;k esa j[kdj  
(2) ean izdk’k esa j[kdj  
(3) ia[ks ds uhps j[kdj  
(4) ikWyhFkhu dh FkSyh esa j[kdj  

 

93. The rate of absorption of water by the root 

can be increased by -  

(1) Keeping it in shadow  

(2) Keeping it in dim light  

(3) Keeping it under the fan  

(4) Keeping it in a polythene bag  
 

94. chtk.kq mRiUu djus okyk ikni tho gS &  
(1) xqykc  
(2) Mcy jksVh dh QQwan  
(3) vkyw  
(4) vnjd  

 

94. A plant organism that produces spores is -  

(1) Rose  

(2) Bread Mould  

(3) Potato  

(4) Ginger  
 

95. dhVksa esa xSl fofue; ds fy;s ok;q ufydkvksa ds 

tky dks D;k dgrs gSa\  

(1) okrd  (2) 'okl ja/kz  

(3) o{k xqgk  (4) Dykse  
 

95. Insects have a network of air tubes for gas 

exchange called -  

(1) Trachea  (2) Spiracles  

(3) Chest cavity  (4) Gills  
 

96. if’peh ?kkV ds o"kkZ ouksa esa ik;k tkus okyk tUrq  
dkSu lk gS\  
(1) gkFkh  

(2) U;w oYMZ eadh  

(3) yk;u VsYM yaxwj  

(4) esa<d  
 

96. Which animal is found in the rain forests of 

Western Ghats?  

(1) Elephant  

(2) New World Monkey  

(3) Lion Tailed Macaque 

(4) Frog  
 

97. fuEu esa ls /kkrqvksa dh izÑfr ugha gS &  

(1) vk?kkro/kZuh;rk  
(2) dqpkydrk  
(3) rU;rk  
(4) lqpkydrk  

 

97. Which of the following is not a nature of 

metals?  

(1) Malleability  

(2) Non conductivity  

(3) Tensile strength 

(4) Conductivity  
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98. fuEu esa ls dkSu lh izfrtSfod vkS"kf/k gS\  

(1) dkWQh ikmMj  
(2) lksfM;e dkcksZusV  
(3) LVªsIVksekbflu  
(4) ;hLV ikmMj  

 

98. Which one of the following is an antibiotic 

drug?  

(1) Coffee powder  

(2) Sodium carbonate  

(3) Streptomycin  

(4) Yeast powder  
 

99. okguksa ds fy;s lcls de iznw"kd baZ/ku gS &  

(1) lh-,u-th-  (2) ck;ksMht+y  

(3) dSjkslhu  (4) isVªksy  
 

99. Which is the least polluting fuel for 

vehicles?  
(1) CNG  (2) Biodiesel  

(3) Kerosene  (4) Petrol  
 

100. dSje cksMZ ij ikmMj fNM+dus ls ?k"kZ.k---------------
gks tkrk gSA 
(1) de  
(2) vf/kd  
(3) vifjofrZr  
(4) dg ugha ldrs  

 

100. Friction is ...................by sprinkling 

powder on the Carom Board.  

(1) Reduced  

(2) Increased  

(3) Unchanged  

(4) Cant’s say  
 

101. fuEu esa ls fdl vko`fÙk dh /ofu dks gekjs dku 
lqu ugha ldrs gSa\  
(1) 38 gV~Zt+  (2) 8 gV~Zt+  
(3) 10800 gV~Zt+  (4) 6800 gV~Zt+  

 

101. Which of the following frequency of sound 

can’t be heard by our ears?  

(1) 38 Hz  (2) 8 Hz 

(3) 10800 Hz (4) 6800 Hz 
 

102. fu;r pky ls xfr djus okyh oLrq dk nwjh & 
le; xzkQ gksxk & 
(1) ,d tfVy js[kk  
(2) ,d o`Ùk  
(3) ,d ljy js[kk  
(4) ,d oØ js[kk  

 

102. The distance-time graph of an object 

moving with a constant speed will be -  

(1) A complex line  

(2) A circle  

(3) A straight line  

(4) A curved line  
 

103. :feusaV~l esa lsY;wykst+ dk ikpu dgk¡ gksrk gS\  
(1) eq[k esa  

(2) vkek’k; esa  

(3) xzfldk esa  

(4) va/kuky esa 
 

103. Where does the digestion of cellulose take 

place in Ruminants?  

(1) In the mouth  

(2) In the stomach  

(3) In the esophagus  

(4) In the rumen  
 

104. vklqr ty dh izÑfr gksrh gS &  
(1) vEyh;  (2) {kkjh;  
(3) mnklhu  (4) vfuf’pr 

 

104. The nature of distilled water is -  

(1) Acidic  (2) Alkaline  

(3) Neutral (4) Uncertain  
 

105. 40°C ds ,d yhVj ty dks 70°C ds ,d yhVj 
ty ds lkFk feyk;k x;k] feJ.k dk rki       
gksxk &  
(1) 110°C  

(2) 40°C ls 70°C ds e/;  
(3) 30°C 

(4) 70°C 
 

105. 1 liter of water at 40°C is mixed with 1 liter 

of water at 70°C, what will be the 

temperature of the mixture?  

(1) 110°C  

(2) between 40°C and 70°C 

(3) 30°C 

(4) 70°C 
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106. U;wVu dh fMLd esa dkSu lk jax ugha gksrk gS\  
(1) cSaxuh  (2) ihyk  
(3) yky  (4) xqykch  

 

106. Which colour is not there in Newton’s disk?  

(1) Violet  (2) Yellow  

(3) Red  (4) Pink  
 

107. LVsuysl LVhy yksgs esa dkSu lh /kkrq dks feykdj 
cuk;k tkrk gS\  
(1) Øksfe;e] fudy  
(2) dkWij] lYQj  
(3) ,Y;wfefu;e] tLrk  
(4) tLrk] dkWij  

 

107. Which metal is mixed in iron to make 

stainless steel?  

(1) Chromium, Nickel  

(2) Copper, Sulfur  

(3) Aluminium, Zinc  

(4) Zinc, Copper  
 

108. dksbZ dkj 60km/h dh pky ls 25 fefuV pyrh 
gS] blds i’pkr~ og 70km/h dh pky ls 36 
fefuV pyrh gS] rks dkj }kjk r; dh xbZ dqy 
nwjh gksxh &  
(1) 130km (2) 61km 

(3) 65km (4) 67km 
 

108. A car travels 25 minutes at a speed of 

60km/h, then it travels for 36 minutes at a 

speed of 70km/h, then the total distance 

covered by the car will be -  

(1) 130km (2) 61km 

(3) 65km (4) 67km 
 

109. lh-,Q-,y- esa dkSu lh ok"i gksrh gS\  
(1) vkWDlhtu dh  (2) ukbVªkstu dh  
(3) ikjs dh  (4) gkbMªkstu dh  

 

109. Which vapour is used in CFL?  

(1) of Oxygen  (2) of Nitrogen  

(3) of Mercury   (4) of Hydrogen  
 

110. ?k"kZ.k cy ds lUnHkZ esa vlR; dFku dk p;u 
dhft,&  
(1) ;fn i`"B #{k gks rks ?k"kZ.k cy vf/kd 

gksrk gSA  
(2) ;fn ?k"kZ.k ugha gks rks isu ;k iSafly ls 

ugha fy[k ldrsA  

(3) Nr ds ia[kksa o lkbfdyksa esa /kqjh o gc 
ds chp okyk cs;fjax ?k"kZ.k cy dks c<+k 
nsrk gSA   

(4) ?k"kZ.k ds dkj.k twrksa ds rys f?kl tkrs 
gSaA  

 

110. Select the false statement regarding force of 

friction -  

(1) If the surface is rough then the 

force of friction is greater.  

(2) If there is no friction then we can’t 

write with a pen or pencil.   

(3) Bearing between axle and hub of 

cycles and fans increases the 

friction force.  

(4) The bottoms of shoes get worn out 

due to friction.  
 

111. tc fdlh rkj ls fo|qr /kkjk izokfgr dh tkrh 
gS] rks og pqEcd dh Hkk¡fr O;ogkj djrk gS] ;g 
fo|qr /kkjk dk dkSu lk izHkko gS\  
(1) rkih; izHkko  
(2) jklk;fud izHkko  
(3) pqEcdh; izHkko  
(4) buesa ls dksbZ ugha  

 

111. When an electric current is passed through 

a wire, it behaves like a magnet, which 

effect of electric current is this?  

(1) Thermal effect  

(2) Chemical effect  

(3) Magnetic effect  

(4) None of these  
 

112. jDr dk jax yky gksus ds fy;s mÙkjnk;h o.kZd 
gS &  
(1) DyksjksfQy  

(2) gheksXyksfcu  

(3) ¶yks,e  

(4) bUlqfyu  
 

112. The pigment responsible for red colour of 

blood is -  

(1) Chlorophyll  

(2) Hemoglobin  

(3) Phloem  

(4) Insulin  
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113. fctyh dk fLop cukus esa fdldk mi;ksx fd;k 

tkrk gS\  

(1) cSdsykbV  (2) ih-oh-lh-  

(3) Vs¶ykWu  (4) uk;ykWu  
 

113. Which one if used to make an electric 

switch?  

(1) Bakelite  (2) P.V.C. 

(3) Teflon  (4) Nylon  
 

114. uj vkSj eknk ;qXedksa ds la;ksx ¼;qXeu½ dk izØe 

dgykrk gS &  

(1) fu"kspu  (2) ijkx.k  

(3) tuu  (4) eqdqyu  
 

114. The process of fusion of male and female 

gametes is called –  

(1) Fertilization  (2) Pollination  

(3) Reproduction  (4) Budding  
 

115. ok;q--------------------nkc ds {ks= ls ---------------------nkc ds 

{ks= dh vksj xfr djrh gSA  

(1) vf/kd] vf/kd  

(2) vf/kd] de  

(3) de] vf/kd  

(4) de] de  
 

115. Wind moves from an area of...........pressure 

to an area of.............pressure.  

(1) High, High  

(2) High, Low 

(3) Low, High  

(4) Low, Low  
 

116. HkwdEi dh 'kfDr ds ifj.kke dks O;Dr fd;k tkrk 
gS &  
(1) U;wVu eas  

(2) fjDVj iSekus ij  
(3) ehVj iSekus ij  
(4) gV~Zt+ iSekus ij  

 

116. The strength of earthquake is expressed-  

 

(1) in Newton  

(2) on Richter scale   

(3) on Meter scale  

(4) on Hertz scale  
 

117. laxejej dk dSalj fdl dkj.k gksrk gS\  
(1) CFC ds dkj.k     
(2) vEy o"kkZ ds dkj.k  
(3) ikS/kk ?kj izHkko ds dkj.k  
(4) CNG ds dkj.k  

 

117. What causes marble cancer?  

(1) due to CFC  

(2) due to acid rain  

(3) due to greenhouse effect  

(4) due to CNG  
 

118. js’ke ls jxM+us ij dk¡p dh NM+ }kjk dkSu lk 
vkos’k vftZr gksrk gS\  
(1) /kukos’k  
(2) _.kkos’k  
(3) mnklhu  
(4) dksbZ ugha  

 

118. Which charge is acquired by a glass rod 

when rubbed with silk?  

(1) Positive  

(2) Negative  

(3) Neutral  

(4) None of these 
 

119. dkSu lk izkÑfrd lwpd u gksdj ekuo fufeZr 

lwpd gS\  

(1) gYnh  

(2) fyVel  

(3) esfFky vkSjast  

(4) xqM+gy dh ia[kqfM+;k¡ 
 

119. Which one is man-made indicator not a 

natural indicator?  

(1) Turmeric  

(2) Litmus  

(3) Methyl orange  

(4) China rose petals  
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120. 'kjhj ls ckgj Ñf=e fu"kspu dh rduhd dks 

dgk tkrk gS &  

(1) dk;kUrj.k  

(2) IVF  

(3) IFV  

(4) FIV  
 

120. The technique of artificial fertilization 

outside the body is called -  

(1) Metamorphism  

(2) IVF  

(3) IFV  

(4) FIV  
 

121. fuEu esa ls dkSu fo|qr dk pkyd ugha gS\  
 

(1) ued dk ?kksy  

(2) gSUM iai dk ty  

(3) rkykc dk ty  

(4) vklqr ty  
 

121. Which one of the following is not a 

conductor of electricity?  

(1) Salt Solution  

(2) Hand Pump Water  

(3) Pond Water  

(4) Distilled Water  
 

122. oU; thoksa ds laj{k.k gsrq lajf{kr {ks= dkSu lk 

ugha gS\  

(1) oU;tho vH;kj.;  

(2) jk"Vªh; m|ku 

(3) tSoe.My vkjf{kr {ks=  

(4) vkS|ksfxd ikdZ  
 

122. Which is not a protected area for the 

protection of wildlife?  

(1) Wildlife Sanctuary  

(2) National Park  

(3) Biosphere Reserve Area 

(4) Industrial Park  
 

123. iDdh lM+dksa ds fuek.kZ esa fdldk iz;ksx fd;k 

tkrk gS\  

(1) oSlyhu  

(2) fcVqfeu  

(3) dkssd  

(4) iSjkQhu ekse  
 

123. Which is used for metalling the roads?  

 

(1) Vaseline  

(2) Bitumen  

(3) Coke  

(4) Paraffin Wax  
 

124. xgjs jax ds dhinkj ckny dgykrs gaS &  

(1) Vk;Qwu  

(2) gfjdsu  

(3) VkWjusMks  

(4) rfM+r >a>kokr  
 

124. Dark funnel shaped cloud is called -  

(1) Typhoon  

(2) Hurricane  

(3) Tornado  

(4) Thunderstorm  
 

125. phuh dks ,YdkWgy esa ifjofrZr djus ds izØe dk 

uke gS &  

(1) ukbVªkstu fLFkjhdj.k  

(2) eksfYMax  

(3) fd.ou  

(4) laØe.k  
 

125. The process of converting sugar into 

alcohol is called -  

(1) Nitrogen stabilization  

(2) Molding  

(3) Fermentation  

(4) Infection  
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 SOCIAL SCIENCE  lkekftd foKkulkekftd foKkulkekftd foKkulkekftd foKku 

126. Iyklh dk ;q) dc gqvk Fkk\  

(1) 1757 bZ-  (2) 1659 bZ-  

(3) 1587 bZ-  (4) 1858 bZ-  
 

126. When did the Battle of Plassey take place? 

(1) 1757 A.D. (2) 1659 A.D. 

(3) 1587 A.D. (4) 1858 A.D. 
 

127. fuEufyf[kr esa ls fcjlk dk tUe fdl ifjokj esa 
gqvk Fkk\  
(1) xksM+  
(2) laFkky  

(3) eq.Mk  
(4) buesa ls dksbZ ugha  

 

127. In which of the following family was Birsa 

Born?  

(1) Gond  

(2) Santhal  

(3) Munda  

(4) None of these  
 

128. vk;Z lekt dh LFkkiuk fdlus dh Fkh\  

(1) jktk jke eksgu jkW;  

(2) bZ’oj pUnz fo|klkxj  

(3) Lokeh n;kuUn ljLorh  

(4) Lokeh foosdkuUn  
 

128. Who founded Arya Samaj?  

(1) Raja Ram Mohan Roy  

(2) Ishwar Chandra Vidyasagar  

(3) Swami Dayanand Saraswati  

(4) Swami Vivekananda  
 

129. Lokeh foosdkuUn ds xq# dk D;k uke Fkk\ 
  
(1) ds’kopUnz lsu  

(2) jkeÑ".k ijegal  

(3) egkRek xka/kh  

(4) T;ksfrjko Qqys  
 

129. What was the name of Swami 

Vivekananda’s Guru?  

(1) Keshab Chandra Sen  

(2) Ramakrishna Paramhansa  

(3) Mahatma Gandhi  

(4) Jyotirao Phule  
 

130. ^^Lora=rk esjk tUe fl) vf/kdkj gS vkSj eSa bls 

ysdj jg¡wxkA^^ ;g ukjk fdlus fn;k\ 

(1) cky xaxk/kj fryd  

(2) ykyk yktir jk;   

(3) egkRek xka/kh  

(4) Lokeh foosdkuUn  
 

130. “Freedom is my birth right and I will have 

it” Who gave this slogan?  

(1) Bal Gangadhar Tilak  

(2) Lala Lajpat Rai  

(3) Mahatma Gandhi  

(4) Swami Vivekananda  
 

131. os lalk/ku ftudk Hk.Mkj lhfer gS] dgykrs       

gSa&  

(1) vuohdj.kh; lalk/ku  

(2) uohdj.kh; lalk/ku  

(3) izkÑfrd lalk/ku  

(4) mi;qZDr lHkh  
 

131. Those resources whose reserves are limited 

are called – 
  

(1) Non-Renewable resources  

(2) Renewable resources  

(3) Natural resources  

(4) All of the above  
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132. i`Foh ds dqy {ks=Qy dk fdrus izfr’kr Hkkx 

¼LFky½ Hkwfe gS\  

(1) 20 izfr’kr  (2) 30 izfr’kr 

(3) 40 izfr’kr (4) 70 izfr’kr 

 

132. What percentage of the earth’s total area is 

land?  

(1) 20% (2) 30% 

(3) 40% (4) 70% 

 

133. fuEu esa ls 'kfDr ds lalk/kuksa esa lfEefyr ugha   
gS &  
(1) ykSg v;Ld  

(2) dks;yk  

(3) isVªksfy;e  

(4) izkÑfrd xSl  
 

133. Which of the following is not included in 

the power resources?  

(1) Iron ore  

(2) Coal  

(3) Petroleum  

(4) Natural gas  
 

134. Ñf"k fdl izdkj dh vkfFkZd fØ;k gS\  
 

(1) izkFkfed fØ;k  

(2) f}rh;d fØ;k  

(3) rr̀h;d fØ;k  

(4) mi;qZDr lHkh  
 

134. What type of economic activity is 

agriculture?  

(1) Primary Activity  

(2) Secondary Activity  

(3) Tertiary Activity  

(4) All of the above  
 

135. fo’o dh eq[; [kk| Qly gS &  

(1) xsgw¡  (2) eDdk  

(3) pkoy  (4) dikl  
 

135. The world’s major food crop is -  

(1) Wheat  (2) Maize  

(3) Rice  (4) Cotton  
 

136. Hkkjrh; lafo/kku lHkk dk xBu fdl o"kZ fd;k 

x;k Fkk\  

(1) 1946 (2) 1856 

(3) 1916 (4) 1919 
 

136. In which year the Constitution Assembly of 

India was formed?  

(1) 1946 (2) 1856 

(3) 1916 (4) 1919 
 

137. Hkkjrh; lafo/kku esa orZeku esa fdrus ekSfyd 

vf/kdkj gaS\  

(1) ikap  (2) N%  

(3) vkB  (4) nl  
 

137. How many Fundamental rights are there in 

the Indian Constitution at present?  

(1) Five  (2) Six  

(3) Eight  (4) Ten  
 

138. jkT; lHkk esa dqy fdrus lnL; gSa\  

 

(1) 245 (2) 545 

(3) 200 (4) 745 
 

138. How many members are there in Rajya 

Sabha?  

(1) 245 (2) 545 

(3) 200 (4) 745 
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139. Hkkjrh; U;k;ky; ¼vnkyrksa½ dks fdrus Lrjksa esa 

ckaVk x;k gS\  

(1) pkj  (2) rhu  

(3) nks  (4) ikap  
 

139. Indian Court is divided into how many 

levels?  

(1) Four  (2) Three  

(3) Two  (4) Five  
 

140. gqjM+k lEesyu dc cqyk;k x;k Fkk\  

(1) 17 tqykbZ] 1734 

(2) 22 vizSy] 1928 

(3) 26 tuojh] 1850 

(4) mi;qZDr lHkh  
 

140. When was the Hurda Conference held?  

(1) 17 July, 1734 

(2) 22 April, 1928 

(3) 26 January, 1850 

(4) All of the above  
 

141. 1857 dh Økafr dh 'kq#vkr fdl LFkku ls o dc 

gqbZ\ 

(1) esjB] 10 ebZ 1857 

(2) ulhjkckn] 28 ebZ 1857 

(3) Vksad] 3 twu 1857 

(4) ,fjuiqjk] 21 vxLr 1857 
 

141. From where and when did the Revolution 

of 1857 begin?  

(1) Meerut, 10 May 1857 

(2) Nasirabad, 28 May 1857 

(3) Tonk, 3 June 1857 

(4) Erinpura, 21 August 1857 
 

142. ^jktLFkku fnol* dc euk;k tkrk gS\  

(1) 15 vxLr   (2) 30 ekpZ  

(3) 18 ebZ  (4) 26 tuojh  
 

142. When is ‘Rajasthan day’ celebrated?  

(1) 15 August  (2) 30 March  

(3) 18 May  (4) 26 January 
 

143. jktLFkku dk lcls izkphu m|ksx dkSu lk gS\  

(1) lwrh oL= m|ksx  

(2) lhesUV m|ksx  

(3) peM+k m|ksx  

(4) 'kDdj m|ksx  
 

143. Which is the oldest industry of Rajasthan?  

(1) Cotton garment industry  

(2) Cement industry  

(3) Leather industry  

(4) Sugar industry  
 

144. ,slk LFkku tgka nLrkostksa vkSj ik.Mqfyfi;ksa dks 

laxzfgr fd;k tkrk gS &  

(1) HkaMkj x`g  (2) vfHkys[kkxkj  

(3) f’kykys[k  (4) Hkou  
 

144. A place where documents and manuscripts 

are stored -  

(1) Warehouse (2) Archives  

(3) Inscription  (4) Building 
 

145. ^jgV^ D;k gS\  

(1) [kk| inkFkZ  

(2) ;krk;kr ekxZ  

(3) lapkj ek/;e  

(4) flapkbZ dk lk/ku   
 

145. What is ‘Rahat’? 

(1) Food ingredient  

(2) Traffic route  

(3) Communication medium  

(4) Irrigation source  
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146. jktLFkku ds cw¡nh ftys esa fLFkr ^jkuh th dh 

ckoM+h^ dk fuekZ.k fdl jkuh us djok;k Fkk\ 

(1) jkuh ehuw daoj  

(2) jkuh latw daoj  

(3) jkuh ukFkkorh th  

(4) mi;qZDr lHkh  
 

146. Which queen built ‘Raniji ki Baori’ situated 

in Bundi district of Rajasthan?  
 

(1) Rani Meenu Kanwar  

(2) Rani Sanju Kanwar  

(3) Rani Nathavati Ji  

(4) All of the above  
 

147. rktegy dk fuekZ.k fdl 'kkld us djok;k Fkk\ 

(1) vdcj  (2) tgkaxhj 

(3) vkSjaxt+sc  (4) 'kkgtgka  
 

147. Which ruler built the Tajmahal?  

(1) Akbar  (2) Jahangir  

(3) Aurangzeb  (4) Shah Jahan 
 

148. dbZ ikfVZ;ksa ls cuh ljdkj dgykrh gS\  
 

(1) xBca/ku ljdkj  

(2) jkT;iky  

(3) foi{k ljdkj  

(4) dksbZ ugha  
 

148. A Government made up of many Parties is 

called -  

(1) Coalition Government  

(2) Governor  

(3) Opposition Government  

(4) None  
 

149. dk;Zikfydk izeq[k gksrk gS &  
 

(1) eq[;ea=h  

(2) fo/kk;d  
(3) lkaln  
(4) ljdkj  

 

149. ......................is the head of the Executive 

Committee.  

(1) Chief Minister  

(2) MLA  

(3) MP 

(4) Government  
 

150. fo/kkulHkk lnL; dgykrs gSa &  
 

(1) lkaln  (2) jkT;iky 

(3) lfpo  (4) fo/kk;d  
 

150. The members of the Legislative Assembly 

are called -  

(1) MP  (2) Governor  

(3) Secretory  (4) MLA  
 

151. ^gStk^ D;k gS\  

(1) chekjh  

(2) Qy 

(3) i{kh  

(4) mi;qZDr lHkh  
 

151. What is ‘Cholera’?  
(1) Disease  

(2) Fruit  

(3) Bird  

(4) All of the above  
 

152. i;kZoj.k dk ?kVd gS &  

(1) LFkye.My  

(2) ok;qe.My  

(3) tye.My 

(4) mi;qZDr lHkh 
 

152. Component of the environment is -  

(1) Lithosphere  

(2) Atmosphere  

(3) Hydrosphere  

(4) All of the above  
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153. i`Foh dh Bksl Hkw&iiZVh dgykrh gS &  

(1) i;kZoj.k  

(2) tye.My  

(3) LFkye.My  

(4) dksbZ ugha  
 

153. The solid crust of the earth is called -  

(1) Environment  

(2) Hydrosphere  

(3) Lithosphere  

(4) None  
 

154. 'kSy ds izdkj gSa &  

(1) ikap  (2) nks  

(3) pkj  (4) rhu  
 

154. Type of rocks are -  

(1) Five  (2) Two  

(3) Four  (4) Three  
 

155. eSXek fufeZr 'kSy gaS &  

(1) volknh  (2) dk;karfjr     

(3) vkXus;  (4) dksbZ ugha     
 

155. Rocks formed by magma are -  

(1) Sedimentary  (2) Metamorphic 

(3) Igneous  (4) None  
 

156. og LFkku tgka HkwdEi vkjEHk gksrk gS &  
 

(1) mn~xe dsUnz  

(2) vf/kdsUnz  

(3) Tokykeq[kh  

(4) mi;qZDr lHkh  
 

156. The place where the earthquake begins is 

called -  

(1) Origin center  

(2) Epicenter  

(3) Valcano  

(4) All of the above  
 

157. HkwdEih; rjaxsa gSa &  

(1) ih&rjaxas  

(2) ,l&rjaxas  

(3) ,y&rjaxas  

(4) mi;qZDr lHkh  
 

157. Seismic waves are -  

(1) P-waves  

(2) S-waves  

(3) L-waves  

(4) All of the above  
 

158. HkwdEi dk ekiu fd;k tkrk gS &  

(1) fu{ksi.k  (2) HkwdEi ys[kh  

(3) Tokykeq[kh  (4) dksbZ ugha  
 

158. Earth quake is measured by -  

(1) Deposit  (2) Seismograph  

(3) Valcano  (4) None  
 

159. N=d 'kSy ik;h tkrh gS &  

(1) jsfxLrku esa  (2) fgeun esa 

(3) unh ?kkVh esa  (4) dksbZ ugha  
 

159. Mushroom rocks are found in -  

(1) Desert  (2) Glacier 

(3) River Valley  (4) None  
 

160. ok;qe.My eas lokZf/kd ik;h tkus okyh xSl gS & 
  
(1) vkst+ksu  (2) vkWDlhtu  

(3) vkxZu  (4) ukbVªkstu  
 

160. The most abundant gas in the atmosphere   

is -  

(1) Ozone  (2) Oxygen  

(3) Argon  (4) Nitrogen 
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 MATHS  xf.krxf.krxf.krxf.kr    

161. lehdj.k 7n + 6 = 27 gS] rks n dk eku Kkr        
dhft, &  
(1) 4 (2) 3 

(3) 5 (4) 7 
 

161. In equation 7n + 6 = 27, what is the value 

of    ‘n’?  

(1) 4 (2) 3 

(3) 5 (4) 7 
 

162. dks.k 128° dk lEiwjd dks.k dk eku D;k gksxk\  
 
(1) 52° (2) 51° 

(3) 25° (4) 90° 
 

162. Find the supplementary angle of angle 

128°.   

(1) 52° (2) 51° 

(3) 25° (4) 90° 
 

163. prqHkqZt ABCD esa] dks.k C dk eku gksxk\  

 
(1) 90° (2) 80° 

(3) 70° (4) 110° 
 

163. In a quadrilateral ABCD, find the angle C. 

 
(1) 90° (2) 80° 

(3) 70° (4) 110° 
 

164. eku Kkr dhft, &  
 32

×3-5
×36 

(1) 27 (2) 81 

(3) 9 (4) 54 
 

164. Find the value of -  

32
×3-5

×36 

(1) 27 (2) 81 

(3) 9 (4) 54 
 

165. ;fn o`Ùk dh ifjf/k 132 ls-eh- gS] rks o`Ùk dh f=T;k 
D;k gksxh\  
(1) 42 ls-eh- (2) 12 ls-eh- 
(3) 20 ls-eh- (4) 21 ls-eh- 

 

165. If the circumference of circle is 132cm, 

what is the radius of circle?  

(1) 42cm (2) 12cm 

(3) 20cm (4) 21cm  
 

166. 378...........90  

fjDr LFkku esa dkSu lk vad fy[ksa fd la[;k 9 ls 

iw.kZr;k foHkkftr gks tk,\   

(1) 5 (2) 9 

(3) 10 (4) 2 
 

166. 378...........90  

Which of the following digit to be filled in 

the blank so that number is divisible by 9?  

(1) 5 (2) 9 

(3) 10 (4) 2 
 

167. vk¡dM+k 8 dks feyku fpºu (Tally Bar) esa iznf’kZr 

fd;k tk,xk &  

(1) 
 

(2) 
 

(3) 
 

(4)  
 

167. Data 8 is represented in tally bar as-  

 

(1) 
 

(2) 
 

(3) 
 

(4)  
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168. fHkUu 
26

52
 dk ljyre :i D;k gksxk\  

(1) �

3
  (2) �

2
  

(3) ��

26
  (4) �

13
  

 

168. What is the simplest form of fraction 
26

52
 ?  

(1) �

3
  (2) �

2
  

(3) ��

26
  (4) �

13
  

 

169. a0 dk eku D;k gksxk\  
(1) 0 (2) 1 

(3) a (4) a2 
 

169. Find the value of a0. 

(1) 0 (2) 1 

(3) a (4) a2 
 

170. la[;k 12798 ds oxZ dk bdkbZ vad D;k           
gksxk\  
(1) 6 (2) 4 

(3) 8 (4) 5 
 

170. What will be the unit digit of the squares of 

the number 12798?  

(1) 6 (2) 4 

(3) 8 (4) 5 
 

171. js[kk l||m ] ftls ,d fr;Zd js[kk t izfrPNsn djrh 
gS] esa x dk eku D;k gksxk\  

 
  
(1) 60° (2) 50° 

(3) 120° (4) 40° 
 

171. In Line l||m, to which a transversal‘t’ 

intersects, find the value of x. 

    
 
(1) 60° (2) 50° 

(3) 120° (4) 40° 
 

172. la[;k 
��


�
 dk ;ksT; izfrykse fyf[k, &  

(1) ��

�
  (2) 
��

�
  

(3) ��


�
  (4) 
�

��
  

 

172. What is the additive inverse of number 
12

−9
? 

(1) ��

�
  (2) 
��

�
  

(3) ��


�
  (4) 
�

��
  

 

173. fdlh lIrkg dk rkieku fuEu gS &  

12°C, 20°C, 21°C, 19°C, 19°C, 21°C, 21°C, 

ml lIrkg dk ek/; rkieku D;k gksxk\  

(1) 21°C (2) 19°C 

(3) 20°C (4) 12°C 
 

173. Temperature of a week is following –  

12°C, 20°C, 21°C, 19°C, 19°C, 21°C, 

21°C, 

What is the mean temperature of that week?  

(1) 21°C (2) 19°C 

(3) 20°C (4) 12°C 
 

174. gy dhft, &  
2.30 + (3.5 × 4.5) 

(1) 17.5 (2) 38.75 

(3) 18.05 (4) 3.875 
 

174. Solve this - 

2.30 + (3.5 × 4.5) 

(1) 17.5 (2) 38.75 

(3) 18.05 (4) 3.875 
 

175. ,d dqlhZ dks 250 ` esa [kjhndj 350 ` esa csp 
fn;k x;kA bl lkSns esa ykHk izfr’kr dh x.kuk       
dhft, &  
(1) 50% (2) 30% 

(3) 40% (4) 60% 
 

175. A chair was bought for `250 and was sold  

at `350. Calculate profit percentage in this 

deal. 

(1) 50% (2) 30% 

(3) 40% (4) 60% 
 

l m

°120
°x

t

l m

°120
°x

t
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176. Q dk eku Kkr dhft, & 

 

(1) 9 (2) 8 

(3) 7 (4) 4 
 

176. Find the value of Q –  

 

(1) 9 (2) 8 

(3) 7 (4) 4 
 

177. fuEu esa ls dkSu lk dFku lR; gS\  

(1) nks U;wu dks.k ,d jSf[kd ;qXe cuk ldrs 

gSaA  

(2) nks ledks.k ,d jSf[kd ;qXe cuk ldrs 

gSaA  

(3) nks vf/kd dks.k ,d jSf[kd ;qXe cuk 

ldrs gSaA  

(4) mi;qZDr lHkh dFku lR; gSaA  
 

177. Which of the following statement is true?  

(1) Two acute angles can form a linear 

pair.  

(2) Two right angles can form a linear 

pair. 

(3) Two obtuse angles can form a 

linear pair. 

(4) All of the above statements are 

true.  
 

178. fcUnq A(-3, -4) dks xzkQ esa dkSu ls prqFkkZa’k esa 

iznf’kZr fd;k tk,xk\  

(1) izFke prqFkkZa’k  

(2) f}rh; prqFkkZa’k 

(3) rr̀h; prqFkkZa’k 

(4) prqFkZ prqFkkZa’k 
 

178. Point A(-3, -4) will be represented on which 

quadrant in a graph?  

(1) First Quadrant  

(2) Second Quadrant  

(3) Third Quadrant  

(4) Fourth Quadrant  
 

179. la[;k 660 ds vHkkT; xq.ku[kaM gksaxs&  

(1) 2×3×5×11 (2) 2×2×3×5×11 

(3) 2×3×11 (4) 5×10×11 
 

179. Prime factorization of number 660 are -   

(1) 2×3×5×11 (2) 2×2×3×5×11 

(3) 2×3×11 (4) 5×10×11 
 

180. dks.k 120° dks D;k dgrs gSa\  

(1) U;wu dks.k  

(2) ledks.k  

(3) vf/kd dks.k  

(4) jSf[kd ;qXe dks.k  
 

180. Angle 120° is called-  

(1) Acute angle  

(2) Right angle  

(3) Obtuse angle  

(4) Linear Pair angle  
 

 

---------------------------------- 

 

105

3Q1

Q13

105

3Q1

Q13
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